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BT WoE = iﬁﬁﬁ§4fzgﬁ§{ﬁa) HEHBOLTE:
1 X th 0. 11 0.10 ~ 0.13
2 /S F ¥ 0. 10 0.09 ~ 0.12
3 & K 0. 12 0.11 ~ 0.14
4 H #* 0.13 0.12 ~ 0.15
2 ] i 0. 11 0.11 ~ 0.13
6 # * 0.13 0.12 ~ 0.16
7 K 2] Be 0.14 0.12 ~ 0.16
8 g th 0.13 0.13 ~ 0.15
9 N H 0.13 0.13 ~ 0.16
10 = ] 0. 12 0.10 ~ 0.15
11 =1 B 0.13 0.13 ~ 0.15
12 & #l =) 0. 10 0.09 ~ 0.12
13 bk it 0.13 0.12 ~ 0.14
14 7K ‘i i 0. 10 0.09 ~ 0.12
15 a1 J5 0.16 - 0.14 ~ 0.17
16 i * 0.13 0.11 ~ 0.15
17 il F 0. 12 .11 ~ 0.13
18 ! 4 0.17 0.156 ~ 0.18
19 ¥ 1y 0. 10 0.09 ~ 012
20 % FE 0.13 0.12 ~ 0.14
21 = 5= 0.13 0.12 ~ 0.15
22 & S 0.13 0.11 ~ 0.14
23 = iz T 0.13 0.12 ~ 0.14
24 X 4 F 0. 14 0.12 ~ 0.15
25 A /33 0.10 0.10 ~ 0.14
26 % ! B 0.09 0.09 ~ 0.10
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4 [BRERR

HNL:C
P i =K P
THME | B EHE SEYE | B EE B E | B ESE
4 17.7 4.2 11.0 17.2 4.6- 10.8 18.0 5.7 11.9
5 22.5 11.4 16.5 21.7 11.2 16.4 23.7 12.4 17.8
6 24.0 17.9 20.5 23.2 18.7 20.8 24.4 18.9 22.0
BIERFT4A Bk =S 25
SEEE | B S {E SEEE | B A HEH{E | B EHE
4 17.8 4.0 11.1 17.4 5.1 10.9 15.5 3.0 9.6
5 22.8 11.9 16.6 22.2 11.4 16.7 20.9 9.8 15.3
6 24.1 17.9 20.6 23.4 18.6 21.1 22.1 17.3 19.7
RERT4 HH HigH k#
BYEHE | BESE] | BYHE | B IESE | HIEWE | B ESfE | o
4 18.4 5.0 11.1 17.7 5.0 11.5 17.8 4.6 11.0
5 22.4 11.0 16.5 22.4 12.0 17.4 22.6 10.9 16.9
6 24.7 18.7 21.1 24.4 18.8 21.9 23.3 18.7 21.0
RIERT4 NES AHE
ASEEE | B EIE| HEHE | BEDME| ¢
A lon ome | T g ome | T2
4 17.3 4.1 10.9 17.3 4.8 11.5
5 22.2 11.3 16.8 22.4 12.0 17.3
6 23.0 18.4 21.0 23.4 19.3 21.6
v RREEE
AT R ()%
KAEEEXS A A-B B B-C C C-D D E F — [TOTAL
4 18 80 102 14 39 5 205 1 4 252 720
" 2.5) | (11.1) | (14.2)| 1.9) | (5.4) | (0.7) | (28.5)| (0.1) | (0.6) | (35.0) | (100)
= 5 28 78 97 14 38 d 235 3 4 240 744
] (3.8) | (10.5) | 13.0) | (1.9) | 5.1) | (0.9) | (31.6)| (0.4) | (0.5) | (32.3) | (100)
6 23 81 114 10 27 1 261 3 1 199 720
(3.2) | (11.3) | (15.8) | (1.4) | (3.8) | (0.1) | (36.3)| (0.4) | (0.1) | (27.6) | (100)
4 22 101 94 13 15 0 218 0 5 252 720
(3.1) | (14.0){ (13.1) | (1.8) | (2.1) | (0.0) | (30.3)}| (0.0) | (0.7) | (35.0) | (100)
E 5 35 98 67 17 28 4 257 8 4 226 744
= (4.7) 1 (13.2)] (9.0) | (2.3) | (3.8) | (0.5) | (34.5)| (1.1) | (0.5) | (30.4) | (100)
6 24 102 101 2 7 1 296 1 2 184 720
(3.3) | (14.2) 1 (14.0) | (0.3) | (1.0) | (0.1) | (41.1) | (0.1) | (0.3) | (25.6) | (100)
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